Lch Tablai Dé Chéadaoin 29u

4x6=__ 12x565=__ 9x3=__ Mx7=__ 80+10=__
20+2=__ T+7=__ 1x5=__ 72+9=__ 9gx2=__
16+4=__ 5x12=_ 4x1=__ 2x4=__ 4-11=__
42+6=__ 12x2=__ 6x9=__ 8x2=__ 2x9=__
9x11=__ 20+10=__ 1x12=__ 9x12=__ 8x10=__
84+12=_ Tx11=_ 2x3=_ 6x10=_ 8x4=_
Mx3=__ 8x7=__ Gx2=__ 40+10=__ 5x11=__
22+2=__ 72+12=_ Tx2=_ 4x11=_ 48+12=_
1M0x9=__ 3Ix2=__ 10x12=__  6+6=___ 10=x7=__
Mx2=__ 8x8=__ 16+-2=__ 2x6=__ 8+8=__
5x2=__ 12+4=__ B+-4=_ M+=M11=__  24=6=__
2x9=__ 12x4=__ 10x56=__ 3x9=_ 90+10=__
9xb=__ 18+2=__ 5x6=__ 4x9=__ 3xb=__

12x 8= 144 =12 = 9x3= 427 = 77+=7=

5x4=_ 40-8=_ _ 9x12=____ 30=10=_____  3x12=
11x6=____ 8x11=_____ 28+4=_____ 60=10=_____  4x10=____
1Mx4= ___ Bx12=_____ 5x10=____ 54=9= __ Bx3=____
12+6=___ 81=9=___ 1x6=_____ 4x5= 9x6=__

gx4= Bx11= 6x12= 5x1= 4x10=
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English Version

Length (m, cm) - Addition and subtraction

5&-"}'4:11
-2+ 58m
3. 76m

1. (@) Mmcm i(b) M cm () M cm :(d)
239% 568

: (o) 20)]
24 1 3.29m °

2:08m: 7-14m

3
+ 381 +#146: +295:+3-19m

:+5:95m: +1:36m

2. (o) mcm (k) M cm :{c) Mmcm :(d)

428 653 516 : 6-04m:
4

“e) HG)
7-32mi 8-51m

- 139 -281: -41727 i<-312m

i -5.84mi-3-71m

3. Write in decimol form and add.
(o) 3m 62am + Im 52cm (b) 2m Bécm + 2m 4lem
(d) 4m 26cm + 2m Q0cm : (¢) 5m 3om + Im Blcm
(g) Smb2om +25m (W) 3ikgm + Im 3%m

“(e) 3m 16em + 4m Béhem
E(ﬁ 3m 98em + 1m lem
;(u) 2%m+4%m

4, Write in decimal form and subtract.
(a) 7m 850m ~ 3m 26cm  : (b) 5m 32¢m -~ 1m Slem
(d) Bm 500m - 3m 22cm () 6m 15¢m — 3m 47em
(g) Sjoem - 1m 52em (W) 63m — 2m Bbem

: () 6m 19cm ~ 4m 30cm
(0 9m 3em - S5m 11em

(1) 3m 7em - 2%,:1\

5. How much longer m cm 6. A snail travelled 263cm m cm

15 the car than the before taking o rest. He
motorbike? 28 then travelled another ~
O 1im How for didhe  |( )

a trovel sltogether?

3m 62em  1m 68cm
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